Mk REREIT

AF98E31 250p

3 RPFEAFHA

SRR F’ i+

Wﬁfg Fiﬂ%\“i‘%a i

NF 100 & 9% 28 P (A g RIS DB
3§ 101 = 10 7 24 p ng@ i
AM103 & 1" 7P (Frcgkiz il
@11 & 110 9pm<gpw i i
$-F SBEPHAF(THEAMYIEAEE RERE FIRY B
TEAMEE o
o 0F AMEEsr ,/,}*f’r);lj\}:&:ﬁ:
B ORI AL R R SR R
=~ x_= ZrL‘F'— AR E L = %5‘?*&??"‘4 3 ARGEE O e
g ”iﬁ:%%EEQ%§ﬁ§4i-ﬁ$§ﬁ%@§%°
Ty BN AR RETEREL I AREDAG -
WHEE - KR FAEAEY KM E N AR TR A
. S
F=F
R R ER S ARERY TS S AT FRIN L L
ARESFEOAFR ~BRRE SRR o
FoREZRRY s RERFEIFARAFE -
FoFRr R fREPEA)E ARESBLAFY -
$2if e ke
R W)
% - 5F % - 5 EIER-) R
W F
N g S g L
O sHgLy & (50 4~ (50 & 0 0
48)1,500 ~ | 4&)1,500 ~
O Kkit% i F - 0 R F E K
I 3l IEI‘%‘*«
A §
® iy - 0 0 0
AT 2y % 3
X & B pEe
O jepig 0 -l d 0 0




% - 5F % - % EER- %o 5E
7P
@ Frtd A | EiKEFE | & mKfFe
(7 “3kda | P (o p(xi% 0 0
2.%) p)2,000 ~ | p)2,000 ~
T AEEE | A EEHE
0 ~tux 4 . %ﬁﬂ 11,500 %EF 11,500
B o WM Rl . | T
” ~ G oG- AR ESE
g £ 3 17,000 | % # 17,000
@ 2% (0~B)*20% | (0~0)*20% 0 0
0@ @3 0 4 e 0 0
g 1rrs &
g
| B 4 2
52,000 ~
© $% 0 0 @l 5 1a 0
59,000 ~
AL FTE g
g
56,000 ~
O § (44 FEh
%ﬂf) 37,800 ~
Fedp L N g A MR R S TEREF L I AR 0 AR TR
o A2z B gC-ARELGE)Y Ry ~1HF v B
L X A
FriE AREKFAAEE FRPEYE TR N IR kAR K
BE14 0 o gdpd K8 PHIGER  SPE 0 F My
ARG URAETH N P XL ES 138 A%
S5 d Fitio




4

-
a

/I/£
A

j\’}i‘}-.@ s@ 1= 1 ,
~ L T5%

=

T



